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(258 + 126) = 3

(139 + 984)

(375 — 250) = 5
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(185 4+ 18) x 6

4 x (703 + 299)
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5 x (746 — 607) = 695 59 x (83 — 13) = 4130

(56 + 115) ~ 3 = 57 (927 — 567) ~ 8 = 45
(490 4 290) = 5 = 156 7 x (779 + 124) = 6321
(106 4 718) = 8 = 103 (963 — 674) x 7 = 2023
(842 + 435) x 4 = 5108 8 x (610 — 500) = 880
(379 — 149) x 6 = 1380 (104 + 696) = 8 = 100
(94 — 31) x 98 = 6174 (674 — 153) x 7 = 3647
(825 — 693) x 2 = 264 0 x (892 — 448) = 3996
231 = (23— 16) = 33 (378 4 420) = 7 = 114
(976 4+ 908) x 5= 9420 ' 6 x (248 — 10) = 1428
2 x (891 — 665) = 452 (92 +44) = 8 = 17

(653 — 144) x 9 = 4581 (156 + 40) + 2 = 98

(457 4 413) x 2 = 1740 (46 — 41) x 98 = 490

(56 + 22) = 2 = 39 3 x (389 + 159) = 1644

(708 — 412) x 4 = 1184 6 x (900 — 778) = 732

(678 — 664) x 7 = 98

(908 — 254) = 6 = 109

6 x (782 + 266) = 6288

(604 + 126) x 8 = 5840

(921 — 389) x 8 = 4256

89 x (45 — 17) = 2492

7 x (760 + 137) = 6279

(903 — 87) = 8 = 102

74 x (86 — 38) = 3552

(754 — 290) = 8 = 58

(270 4+ 17) = 7 = 41

9 x (905 — 551) = 3186

(235 + 203) =~ 3 = 146

(897 — 596) — 7 = 43

(12 + 811) x 4 = 3292




WESTTE N

ARESHANEZEHE

13570

aEp

HER:

3 x (574 + 383) = 2871

(60 + 29) x 6 = 534

(233 4 315) x 4 = 2192

(852 — 339) = 3 = 171

(986 — 42) +— 4 = 236

(783 — 371) x 4 = 1648

(16 + 71) x 33 = 2871

(231 4 69) ~ 6 = 50

(457 + 413) x 2 = 1740

19 x (47— 9) = 722

(13 + 255) = 2 = 134

(944 — 887) x 7 = 399

(33 +470) x 5 = 2515

(232 + 216) ~ 4 = 112

5 x (470 + 33) = 2515

3 x (46 + 716) = 2286

(768 — 88) = 4 = 170

8 x (815 + 65) = 7040

(16 + 18) x 53 = 1802

(646 — 362) x 2 = 568

80 x (28 + 60) = 7040

(6 + 52) = 2 = 29

8 x (692 + 743) = 11480

(328 +8) ~ 4 = 84

(350 — 249) x 7 = 707

(531 4 297) = 2 = 414
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35) x 72 = 7056

6 x (954 4 747) = 10206

2 x (139 + 984) = 2246

(375 — 250) = 5 = 25

8 x (847 + 544) = 11128

(258 + 126) ~ 3 = 128

4 x (916 — 807) = 436

5 x (837 — 227) = 3050

(663 — 483) — 4 = 45

(826 — 531) x 7 = 2065

(698 — 503) x 2 = 390

(601 — 240) x 4 = 1444

(927 — 239) x 2 = 1376

(893 — 260) ~ 3 = 211

4 x (484 + 108) = 2368

(834 — 242) x 7 = 4144

2 x (868 + 903) = 3542

(266 + 850) x 7 = 7812

(378 + 847) x 7 = 8575
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(30 + 944) = 2 = 487

(273 — 38) x 6 = 1410

7 x (974 + 987) = 13727

89 x (72 — 2) = 6230

(148 + 434) = 6 = 97

(16 + 485) x 3 = 1503

7 x (242 4 834) = 7532

(28 —2) +-2=13

(990 — 495) -5 =99

56 x (74 + 24) = 5488

(19 + 701) = 6 = 120

(273 + 175) = 7 = 64

41 x (87 — 58) = 1189

4 x (476 — 102) = 1496

(90 — 18) + 8 = 80

(204 4 773) x 9 = 8793

72 x (45 — 22) = 1656

20 x (62— 1) = 1220

(1088 — 816) x 4 = 1088

(780 — 442) x 2 = 676

(961 — 688) — 3 = 91

(504 + 133) ~ 7 = 91

2 x (929 — 351) = 1156

(990 — 825) x 6 = 990

50 x (87 — 42) = 2250

(2 4+ 220) = 6 = 37

(417 — 107) x 7 = 2170

4 x (703 + 299) = 4008

(248 + 257) x 3 = 1515

3 x (728 4 232) = 2880

(99 — 79) x 14 = 280

(378 — 108) = 5 = 54

(837 + 227) x 5 = 5320

(873 — 211) x 4 = 2648

(468 + 54) = 9 = 58

(18 +11) x 11 = 319

(635 + 118) x 9 = 6777

7 X (417 —107) = 2170

(568 — 388) x 9 = 1620

(16 + 55) x 11 = 781

90 = (99 — 96) = 30

2 x (370 + 375) = 1490

(185 + 18) x 6 = 1218

(432 + 364) = 2 = 398

(616 — 440) + 4 = 44




